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Instructions : * _

i) All questions are compuls

ii) Illustrate your answcr% 1abc11cd diagrams, wherever ncccssary

iii) Marks allotted to e uestion are mentioned against it.
| Wit
0& tiple Choice Type Questions |
1. w# fawe Ir-gfer 7 frfag -
%) @ RaPaf w Swm g
Q Rl i) Fafeean A
i) dFfREHH i) sqﬁﬁmﬂ 1
g) fmddsR-mammi v T & ?
) A | i) ®R
i) @ iv) Im . 1
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) e i) T 0&
i) g i sﬁmmg,(’._
1. Choose the correct option and write in your ans‘»@( P
a) Genetic engineering is useful in &\0 '
" | i) Agriculture iib diﬁal trcatmcqt
o .iii} Formation of vaccine 0% All of these
b) ‘Which ﬁnc of the folkw&s not a false fruit-?
- i) - Apple | 60 . i) éanberry
iﬁ}l c@@ " iv) Mango
c) Tthtor of Dengue (Break bone) fever is
| QQ Culex - ii) Acdeg-
i) Anopheles . iv) None of these
| d) The name of thé plant pbllinat-cd by water is
i)  Hydrilla i) Pea
i) Citrﬁs | | iﬁ] None of these
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( 3fe &g g gea )
( Very Short Answer Type Questions )

2. %) IUD = qu &9 fafey |
I§)-Eﬁﬂﬂﬁfﬁﬂiﬁhﬁﬁhﬁﬂﬁﬁmfﬁﬁmﬁiﬁkqﬁgmgafﬁﬂn ?
). TEH A wer F M F Rt N el weril o e fen 1 7

S e a—EEL : O(Q

%) fQEEa'@ﬁ?z)ﬁianqiﬁn:ngﬁig ? | <:’

2. a) Write the full form of IUD. 6@

b) Who proposed the Chromosomal theory @cntcncc ?

348(GL)

1

1

¢) How many pairs of contrasting tr&rc studied by Mendel in pea

plant? - 0*
d) What are parthenocarpié@ ?

e) What do you und@ by patent ? -

. 0 (wgIafauya1)

) _ @:ort An#wer Type Questions-l )
3. ﬁﬁ‘ESé{;#ﬁ%naqraniﬁmaf%aimﬁqI

@) Ry 3 S SIS |
M) I WU Efm Rl e |
u) WA & yuH % fram w gaenge |

¥) uﬁgﬁﬁﬁjnm“qntﬂ%WTaﬂ#iﬁﬁﬁn|
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3. a) Draw only diagram of the structure of an Antibody molecule. 2
b) Differentiate between homozygosity and heterozygosity. 2
¢) Write a short note on productivity. | 2
d) Explain Mendelian law pi‘ segregation. , 2
e) - Describe natural selection in b'rief.. - & -2
| (g It yw.1n ) o)
( Short Answer Type Questions-II ) 0 .
4, F) aﬁ?m@%e%mﬁmgﬁql o 6q 1%+ 1Y
[ B) W T i we w1 Ao Hif | \0 | 3
M) W W H IS wiva quid aﬁrﬁq°$ . 3
%) 4 W R e | 1% + 1%
4. a) Explann the back cms@t cross. ' 1%+ 1Y%
b) Describe the struc &f seminiferous tubule. ' 3
c) Describe ;nt@ disease with examples. - 3
d) Dcscﬁ®1mportancc of sccd and fruit deve!apmént. - 1.‘/5 + 1%
5. %) S-S 3 e 33w i 3
W T Hikw fewft ffta | 3
7). Frfafn o foht fafe
oo (o) 1%
(i) anfea | "
%) wEhRin ) saren v ver wfa B | | .3

13000/1339


Hindustanknowledge.com


5 ~ 348(GL)

Describe the contribution of bir:)tcchﬁology in agriculture. 3
Writc a short note on Mcndclismh 3
Write notes on following :

(i)} Ringworm 1%
(i) Amocbiasis. & 12
Explain symbiosis with suitable cxamples. | | o '3

W@WﬁﬁﬁmﬁwmgﬁaW| 09 1%+ 1%
et i A R D (1vvy) o @ b ¥ (nyy) ¥ =
wﬁﬁﬁm%@mmﬁ?@mﬂzﬁmmﬂ% ?

() TRsmg $ 1%

(i) o qen | Qo 1%
gla Iem w froofl fifgn | Q‘. | 3
wm%m ﬁmwmﬁaaﬁamaﬁmy 3
Explain the com \}n and parasitism with cxamples. .1 + 1Y%

When a crg&@nade ‘between tall plant with yellow seed (TtYy) and

tall plantWyith green seed (Ttyy), in what proportion of the following
'.p Qpcs could be expected ? ' '

q Tall and green

12

(i) Dwarfl and green. 1%

| c) Wrii;e a note on National Park. 3
d) Describc the development of male -gamctophytc of a angiospermic
| plant with suitable diagram. 3
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( fereqa sl weA )
( Long Answer Type Questions )

7. .m‘ﬂ‘ﬁwmﬁ@m% ? wE-fe dwail W vend f S
Ay ' 243
. | e

How does fcrtilization take place in angibspérmic plant '&scribe post-
fertilization Structures and events.

- ¢ ‘2 +3 |
OR 6@ - |
Write an essay on human évolutiﬁn. @0 S
8. ﬁwﬁaﬁaﬁﬁﬁ;ﬁa@mm: @) 2% + 2b
6 R e mﬁwo |
(i) Wi ¥ gew 00 .
(i) 7 3ferep | 0@ o
" -
. R w w1 BT | 5
8. ExplaiQith diagram any two of the following : 2% + 2V,
aracteristic fcaf_u.rcs of the strucéurc:_ of dnublt; Stranded DNA.
(i) Cbmponents of eco.syster;l.
* . (i) Human ovum.
OR
Describe the dihybrid cross with diagram. S

13000/ 1339


Hindustanknowledge.com


7

9. frafefed 3 @ Redl W wfdm fogoft firfige - | 2% + 2V
I(i) I wuifta wEw !
(i) gfFTOeEs & wH

(ili) =T e |
Jqan
STEA H R ?fi‘mﬁnﬁmﬂﬁ_@w@ﬂmmm@&wﬁ +2+2
9. Write short notes on any two of the followmg 0 2% + 2V

() Genetically modified crops - 6@

) (iij Components of nucleotide

(iii) In-situ conservation. os

What is addlctmn ? Write a @1 its ill effects in 1 young gcneratmn and
its control measures. & 1+2+2

348(GL) - 1,98, \(‘
o“@
™
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